| Folaable Prop ‘
207-22" M3*10mm Mounting Screw*2

Fp s
ot P mH
A b B o L T T

—




Contents-MN501S

-

ﬂ\ﬂ'aﬂ 1-S ,ﬁ}{ﬁiﬂ
g

‘®

o ® e

E
:
8
§

‘ﬂ,.(.'_d“'}"ﬁh_‘.r

o U._t'?
i MADE [ CutR g
MANGFacTORE B

.

Motor x 1 Parts Bagx 1
(KV240 , KV300 or KV360) (M3*10mm Mounting Screw*2. Cover*l,
M3'8mm Motor Mounting Screw*4)

Please check that your package contains all the above items before use.

If something is missing, please contact T-MOTOR.



33,9

p)
r—
O
LO
-—
-
@)
L=
>
(O
|-
0
et
O
-
©
O
-
o




Specifications-MN501S

Motor size $55.6%33.9mm

Stator Imported silicon steel sheet; Anti-rust treatment;
150°Chigh temperature-resisting coatings

Configuration 24N28P
Shaft Diameter IN: 6&mm, OUT: 4mm
Bearing Imported 696272
Magnet Level 180°C high temperature resistance
Silicon Cable 16AWG*1 50MM
Copper Wire 220°C high temperature resistance: Level C
Coil Insulation Test 500V
Centrifugal Cooling Design YES
Rotor Dynamic Balance Standard =5bMaqg
Motor Dynamic Balance Standard < 10Mg
IP P45
Accessories M3*10mm Mounting Screw*2, Cover']l,

M3*Emm Motor Mounting Screw'4



KV

ldle Current (15V)
Peak Current (180s)
Max. Power (180s)

Internal Resistance

300
1A
40A
1000W
63mQ

Rated Voltage (Lipo)

ESC Recommendation
Propeller Recommendation
Motor Weight (Incl. Cable)

Package Weight

6-85
AIR 40A
20-22 "
170g
350g



ftem No.  Propeller  Throttle Voltage Current  |nput power RPM Torgue Thrust Efficiency  Operating Temperature

(V) (A) (W) (N*rm) (@) (a/W)

409 24.28 3.08 7473 2504 0.12 280 11.80

A2% 2432 3.45 83.05 2701 0.14 968 1153

449 2432 387 04.21 2815 0.16 1058 11.23

46% 2432 439 106.66 2049 0.18 1172 10.98

48% 24.31 489 118.85 3070 0.2 1271 10.69

50% 2431 5.43 131.9 3186 0.22 1382 1048

52% 2432 6.06 147.37 3310 0.25 1480 1017

54% 24.31 671 163.16 3438 0.27 15092 076

56% 24.31 7.35 1786 3543 0.3 1712 0.50
MN501S T-motor  58% 24.31 8.01 10467 3646 0.32 1829 9.29 86.5C (Ambient
KV300  P20°6CF gy 243 8.68 211.02 3742 0.34 1044 9.21 Temperature : 9.2°C)

629 243 9.37 227.73 3736 0.37 2078 9.13

549 243 10.22 24824 3060 0.4 2163 872

66% 243 10.99 267 4058 0.42 2310 8.65

68% 24.29 1173 284.97 4151 0.45 2424 8.51

70% 24.29 12.62 306.46 4233 0.47 2535 8.27

759 2420 1475 3582 4517 0.53 2852 7.06

B0% 24.28 17.13 41508 4725 0.6 3068 7.38

90% 24.26 2259 548.08 heZ7b 073 ario B6.77
100% 24.24 27.75 672.56 5603 0.85 4284 B6.37



ftem No.  Propeller  Throttle Voltage Currert  Input power RPM Torgue Thrust Efficiency  Operating Temperature

(V) (A) (W) (N*rm) (@) (@/W)
A0% 24.34 4.25 103.44 2333 0.22 1204 11.64
A2% 2434 472 114.9 2422 0.24 1305 11.36
A4% 24.33 5.28 12855 2523 0.27 1421 11.05
46% 2433 59 14357 2627 0.3 16540 1073
A8% 2433 6.62 161.11 2754 0.33 1666 10.34
50% 2433 74 179.92 2859 0.36 1824 10,14
529 2433 8.23 200.26 2066 0.4 1980 9.88
549 2432 9.1 221.6 3276 0.43 2139 9,65
569 2432 0.04 241.78 3371 0.46 2266 9.37
MN501S  T-motor 58% 2432 1087 264.4 3463 05 2381 9,00 HOT (Ambient
KV300 P22°6.6CF  gop; 2431 11.83 287.61 3544 0.54 2530 8.80 Temperature : 9.2°C)
629 2431 1279 31085 3639 0.56 2645 8.51
649 2431 13.98 33987 3751 0.6 2803 8.25
£69% 2431 15.08 366.61 3835 0.64 2941 8.02
68% 243 16.11 39157 3920 0.67 3008 7.68 -
70% 243 17.28 41978 4090 071 3006 7.38 5
75% 24.33 20.38 49591 4200 0.8 3507 7.07
80% 2432 2368 575.99 4478 0.89 4027 £.00
90% 2429 3101 75556 4733 1.06 4655 6.16

100% 2427 3774 916.04 5017 £ 5277 b.76



Efficiency Graph

E Pml TEi a El’f_(%] MN501S-KV300. 22CF . 6S

45.00 15000 150 55000 1000 A
.-"ff
050 13500 135 49500 9.0 | | // /
/ |
600 12000 120 44000 @900 : ' 7 / /
31.50 10500 105 38500 0.0 ' ' | 7 77 ] 7
700 200 030 33000 @0 | | /_/, // /
s |
250 700 075 27500 50.0 7 // /
s _ |
18.00 €00 060 22000 40.0 ._,»:-”/ 7 /
..-J-’;'-’H | / |
1350 4500 045 16500 0.0 f{,,///
300 W00 030 1000 200 |~ y
| r

450 1500 015 5500 100 ,.---"

Qoo 00 000 Q0 00 ! ! |
%00 2800 3100 23400 370 4000 4300 4600 4900 5200 500 N{pm)

Thrust, Efficiency, Torque, Power ,Current & Rpm Graph



e MN501S-KV300 . 22CF . 6S
Effect

130
1.7
\"\.
104 \
\
31 e

78 ]

""--..._,_____--_-h
5.2
339
26
13
100000 1500000 200000 280000 300000 350000 400000 450000 500000 550000  600O0.00 Fla)

Efficiency Graph



Installation Method

Integrated Prop

M3 T0mm Mounting Screw*2

@ 20'2.4mm Cover']



Foldable Prop ‘

r ’ 1 U

118 M3*10mm Mounting Screw*2




